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Curriculum

What will students learn?

Intervention

Learning

Motivation

Engagement

Teaching
Instruction

practices will we use to teach?

=X https://www.cgschools.org/curriculum/

What research based instructional

Assessment

How will we know when each
student has learned it?

Acceleration

Curriculum: X1
Assessment: S (22
Learning: &&
Teaching:
Instruction: W==2(52
Motivation:
Engagement:

Intervention:
Acceleration:
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Will be tested through
scientific contexts

Will be influenced by
pupil knowledge

Will be influenced by
pupil attitudes
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Will be tested through
scientific contexts

Will require pupils to
demonstrate competencies

-Personal -Explain phenomena scientifically

-Local/Regional/National -Evaluate and design scientific enquiry

-Global

-Interpret data and evidence scientifically
Scientific
Literacy -

-Interest in science

-Appreciation of scientific approaches -Procedural

-Environmental awareness -Epistemic

Will be influenced by
pupil knowledge

Will be influenced by
pupil attitudes

12 Xt= : Components of the PISA 2015 Scientific Literacy Domain (OECD, 2013)



Stal X 8HA(3-1)0 A 3HsLxt 0[0F7| 7}
_DFEERFO| TpEDb IFsE mabA o] ot

akepxte y Ak HF|, EHI|E OfHS A o=
ofg Y it | ot olaf3t HTEES 2R0/2 STk

srgntar T s . ,
SR 'Y e L e 71X B REE(sH)0|A ZEOIZ 2o2IT}?

* 2 el o %) BUE HPE

IRFHER O WEE ENE?
« HTE SIS O ) e
Bl | msiE ol RawR?
« FH(Carver, G. W, 1864~
\ . { ) 1943), al=zel At
~ v T i '. - e Al | eims ol SRENR? w2 | -meg Aes 115580 84
8) L R b ) £ 7 5 20001 7o AlgE
wa
SR TEiRh= OEH olltenie?
x| TR ofuA BRETR?
-elEs(1968~ ), et
JR0| ENGS . S N . DAMBSIL
e, | W | Hee oA seimiar Imeien | S i
Jof Bl ZAHE AR
GRAl | eIkl Ol SNAERTIR?

EN: g st AR X[ AM(3-1), 56F (2015 LS1HY)



A O|Ct!

IAFAE (2007 DSIMH, 2009 LS 1HH)
HEAN &
Ol = =St “2t& o] 7k HACH

AF O
O/—

So|ak
2|, 0f

FA 7t OFL| CF.

el
H= X
=TT, T
A 2

|-'c'>'
=
~
o,
o o
—

7t?

ol
o}
af-

rud

|.

(V)

H 20|
8)
8)

RE)

i
=

fae)
RE)

|5
~NORCRC NN RC
O < RO OO Kir {oF
AN

HAbE o) ghe pravsbwa] sjabgiod Soelw opakdale] g
20| 704 phated Al
CED) e= o
Bojo] WagRay
’

o J|1 &
M3 ro

. ()

11

(3-1), 10-11% (2015

(=13
=1

=N LS5, o



HEE G P

XN O FIRNR?

o FAETEC

wn A, A48 2= B SR SIS thich felE el

7 E A giatel e gald He] gk
W 20| |

e | 2ol agmaey
fﬁl‘j:!.m_ o 9 { : ] / - T
-I:i"l.‘.“_xl :ii .“ | |8 X

& o1y wmay

D w20l 2 e 2ojs oa BAr,

B E2e4 2 2R Z0I8- A e Y e SA,

B Wl dE Yo @ Dol UK A0 BAICk

ED ofe 2tal %E W2 ULE BAIC

B =g = mBe) o SpEat e dims 2ACk

=X a5, 0t5H3-1), 12-13%F (2015 1=s1H7d)

Bk Shs tiel el #A, SE 55 e

Shatmal b ik el Sl Mz S5 L A e 2
elelat G|, AR oli ofe] 7] 7S AR ol 4,
D A AT A4 BEL 2EAE ASMUL £7 579
B8, & L S4eHs Aol el &g k) SRY Hory 41
giLich, upap ofe| W dbsate] 2ol ANE Wk e 4
e,

%@tﬂan gnat

v ZRER 2N S0 WHo R R0 W0HE Gl T B BTE0) S48
W wimel mos?

Z30|= 52°% =2[E0|
37tX[7F UL} O] & =7| 3
NS O =] i) i )

MLTZH F A I7}?

> A& 40|, A7t

=8g ols oy H =
g= A =ot0] Bois
Tt

A Olge FAHLUIF?

> ST, A s2 9
H o0l E Z=7HEHEL)



$i§ gt g [(amomen
Bxh= o ofuRmR?

mebals efn] TR AEE Mo gram aled & g 98
= thich SOE g 29HE elshea sjet groa gy

s ey gk

W 27]7) CIE 210IS SRAE| S0 Wa ESUS nel w20

F 200 uagmar
L e S 52

W HE nEs

& oAl wna?
D & 2T 02C. HETE T Bk
B g g2E getas] Eof o SEUE el wald Yt Sa),
0 & L SR RE 5 Rl Selas)
OIS ELCH
| §8:A5 BE 20 ¥R JHI4 2EE
& B R oE ST Met 20

i 2hae S

=X a5, 0t5H3-1), 14-15%F (2015 1=s1H7d)

E) 4k aofin ofEs = gojeks Sajasl Bof 90 DR HolER H),
P ST offl $iel) LEiEE] W7 20 Seihs| B Ors| HEE
SIEHSH 2AICE

[ & iy £7180) HRE £ RIE Bt Bof 53 0T 42§ 1eR
EEM FobaAs 8 ol E Szl LEFdx) alokr EAICk

sfe® YPeid & ohs UE Vet AE ddelem g, o)
T Aete] B2 gl Aol TS Sohie o {8 ol

= et

Yo wnar
B =770 D2 Ygois Bobas B0 ST SEYUE o of IS LEE 4
it

By 82 faE iEes deanojEcr) G SE B8 ARCIE O
CHE W2} Lelelx) olalel By

= EFAH
— O
AF HFHH
o od



TR EEE 2rER FH| 2uE drsiol S8 wHol i ofs i) g wat
ek fele 2Ee| BN U Bk

M UL GR L

T wHtehe ZRleRy Bt S Aol Aluel felw e

Fho FEE PARR vt ASE S| Ao HAe

CEID 2052

£ 290 wagnia?
AN PR GO U
o ENsl BE Sl r'._- i
Apmzulg o -

OB BR3-28 fe

& ol ey

£ 5o SLug BEs gk

B 288 5 T2 US + U= SEE J0HEMEL

B B 717 BUE 7o S 288 F R Uy
Sk

) ol 712e8 Fa| aitsa] 2SSt ol
AL

=X 188 1tsh3-1), 16-17% (2015 1S1HH)

Bl Ao FEAI Aol upo s Bel Al 28 Bgen
T L ool S FHel galEe] Bala v B,
SUefa A B AR ST @R AR, 0 SRt

Ehs P SEAm) U 5 Al 20 T0Rs] 22 A1l

*ﬁ.\gq!u @nay

- O 730k S8R 285 BRI U7 M B8 7130 DY 28
TEERIR] WA mmaT

22 FaA0lTt?
dret B 5= 9| SHLtZ
M Hols| 2 X

2E e ofH
M= E 0|25IH =2
22 J|Z=2 O EHA M|
Of Sl=7F?

> ZH3H Ol 7|F=0|2H(?)
2E. 38N EXNE 7|
FTOZ A2 L= A



TEREL 0T L

FHE LA Gnt i

TRYRHE of YA F2lENa?

SR T4 et ) A visem ate) S ole] ao)
SHAE AL fhde), SIS P9 WASE U SR
3 gl ol A A HA

=N 188 1t5H3-1), 18-19% (2015

1

CETD oo wor i en

& ofum ey
B 13- 1920 RN 38 WNIS T B,
B B LB S pisoS Siof 0fRolM S 80| ROTISXIE 0075 AL

Ak i mp e eln] 2hR gl B B uiske B sla) B gla)
b L Bl B ‘?‘ikilu' LR e e -
Fheksbol ciatel] oy WA Be] Hig of depEgl faE o £
Shirict

-

. uﬂ&lnwmmumm;&:mum —H ;
L o

3| ()2 2T

=o| g50| Za2/of

—_— =

7t?

Ok Ju

AP iz
r|r olot

M7xH WSakg kM ol ast

Drawing of “The Footprint Puzzle” representing fossil
dinosaur tracks as shown in the original ESCP Textbook,

S published by Houghton-Mifflin, 1967.



XY 6AlE » L

» ¢
i
#"_ 4;‘
Ll '
»¥ ‘1:
L 4
" 4
Lo "
L Sy
»y
Off 2 e
=3 | O SO 4RI Xt SRl AZOR OlSst “va
LT = = . TiA= = L =
& 2 77t AFdsl7 | HE0 Lt Biaolct ‘f,é e
1 ._1?1‘2#_
o LA
— =
o 72 o|gsto Y=g ¥
202 Q02 BIICI o
o Abalo| 27{3t0] 22 Y
ELE X2|2 8 4 Y TS
= 2H&et 200 2H5HY -
2 gojd & 9t P2 47 -
= 40|41
= 1}7{0f| Ot Qo] oLt Ault, C., & Dodick, J. (2010). Tracking the Footprints Puzzle: The
= MZIS|E = ap&o|C} problematic pers?stence (?f science-asjprocess in teaching the nature
= o1 — © . and culture of science Science Education, 94 (6), 1092-1122 DOI:

Mr{t 2 HO 2 2rinQrk
> U HT |0 02 02 mt r|r m2t

10.1002/sce.20398



« [tE X2 T O| 8o H X}

K]
ns ¥
B e
&
0” PROR
] 8 &
aﬂ ° &
&
aa :o 'E'?g
b 2V v,
&ﬂo ‘ ?.‘ "-!‘::{*
.05 :} Ob "’*ﬂ;?‘(-
L] ) Al
¢Gb 0" g ¥
[*) ¥ Q ¥
k] ) e% L
o es .u\) .’
Q b 8 w
] L] L] '.D §
Gﬁ 55 .60 »
Q 8 4 "
¢ 0 4 00 1
3 ¥ F]
¢ D .ﬂﬁ I: Y
+ 8 4 ¢ R )
- 5 E " » ¥
§¢ - W@° S a
P ' '80 9 "u :
ba ! 8 _0 :' o
6 .‘03 Go . ":*
. 8 A
o .og 5 4y
* L]
"6
d

Comparison of Bird's original field sketch (left) with the textbook version of Roland T. Bird's 1941. photograph of the Paluxy River trackways reproduced in
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